Subtracting two 4 digit numbersSimran and Mr Brownsell answered this question.
5621 – 3971 
Mr Brownsell says the answer is 1652
Simran says the answer is 1650
Who is correct?
Sanjay started with 2382 sweets. 
He gave 37 sweets to Tim.
He gave 888 sweets to Sally 
He gave 1162 to sweets Ali.
How many sweet does Sanjay have now?
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¥ Fino the missing numbers.
What methods did you use?
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5. Tick the calculation that is correct.
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9. Jack says,

This calculation is wrong
because you can't subtract
the fop number from the
bottom number.

Is the calculation correct?

Do you agree with Jack? Explain your answer.
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